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Question 1

Waves which require any medum
for their propagation are called

@ e wrw fEws s
(FFQ AETET TAEE eNF 1 34

Question 2

The categories of waves are
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Question 3

If potential energies and kinetic energies are equal then displacement of an object in simple harmonic motion is
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Question 4

If the time period of a simple pendulum is 2 s then its length is
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Question 5

Oscillations are damped due to the presence of
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Question 6

The maximum displacement from the mean position of a body performing simple harmonic motion is called
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Question 7

The restoring force pushes or pulls the oscillatory object
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Question 8

To produce both transverse and longitudinal waves, we can use a
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Question 9

The distance between 2 consecutive crests or troughs is called
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Question 10

As compared to longitudinal waves, the transverse waves move through solids at a speed of
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Question T1

Two stretched strings of same material are vibrating under same tension in fundamental mode. The ratio of their frequencies is 1:2 and ratio of the lengths of
the vibrating segments is 1:4. Then the ratio of the radii of the strings is
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Question 12

The potential energy of mass attached to spring at extreme position is
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Question 13

The effect of damping on phase angle at resonance frequency
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Question 14

The unit used to measure the loudness of sound is
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Question 15

The phase difference or phase angle in forced vibrations is defined as
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Question 16

Which of these is correct about
Simple Harmonic Motion?
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Question 17

A mass on a spring undergoes
Simple Harmonic Motion. The
maximum displacement from the
equilibrium is called
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Question 18

A mass-spring oscillating system undergoes SHM with maximum amplitude A. If the amplitude is doubled what effect will it produce on the mechanical energy
of the system?
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Question 19

A  mass-spring oscillating system
undergoes SHM with maximum
amplitude A. If the spring constant is
doubled what effect will it produce on
the mechanical energy of the system?
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Question 20

A simple pendulum is moved from
the Earth to the Moon. How does it
change the period of oscillations?
Acceleration due to gravity on
moon= 1.6 m/s2
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Question 21

If two sound wavesof wave length [1having a phase difference of 60°, then they will have a path difference of
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Question 22

If equation of a sound wave is
y=0.00155in(62.8x+314t), then its
wavelength will be
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Question 23

A resonance air column of length 40 cm resonates with a tuning fork of frequency 450 Hz. Ignoring end correction, the velocity of sound in air will be
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Question 24

Standing waves cannot be produced
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Question 25

A traveling wave in a stretched
string is described by the equation
y = Asin ( kot - @t). The maximum
particle velocity is
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Question 26

A wave represented by the
equation v = a cos (kx - of) Is
superposed with another wave to
form a stationary wave such that
the point x = 0 is a node. The
equation for the other wave is

y = acos (k- of)
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Question 27

A string in a musical instrument is
50 cm long and its fundamental
frequency is 800Hz. If a frequency
of 1000 Hz is to be produced, then
required length of string is
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Question 28

Regarding the intensity of sound, Which statement is correct ?
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Question 29

If the distance between the
listener and the source of the
sound i1s doubled, the
intensity is reduced to
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Question 30



The length of a guitar's fundamental wavelength
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